& SRR

—% (B2H)

—
No. E%% Koy | B [ e 4
1 BN | 2T 4 HREVH TR AEE R % —
2 BN | 2T 8 Wars ) =v 2
3 BN | 2T 13 |[EmRiEAN wLFER
4 BN | 2T 14 |EEEAN HHREE SHFREZ2V=v 2
5 BN | 2T 15 [HERKZ2V=v7
6 BN | 2T 16 IR N VT AA7)=9) - 2/ ey )T
7 BN | 2T 18 (A UMtz s ) =v 2
8 El 0 19 HEDYIRA 7V =v 7
9 BN | 2T 20  |SEHZHE
10 BN | 2T 22 | KRITEIE
11 BN | B2 23 BEEOVAVELI Y=y
12 BN | B2 25  nopE
13 BN | 2T 26 |HHZ V=7
14 BN | 2T 27 EEEN BEAREHE )=y s
15 Bl 5"9@}3)? 28 EEGEAN dels dLEIEHS IBREHERT
16 BN | 2T 30 | RRSCHENELZ Y = v 2
17 [ ”E% 31 |fEHNERZ ) =y
18 Bl "J@Fﬁ 32 Mo AR Y =y 2
19 BN | 2T 33 | LREC & IERE
20 Ela .VJ?F)? 34 BELECA—F 2 V=2
21 BN | 2T 35 | LEENRIZ ) =y 2
22 BN | BT 36 CIEFD sV =y
23 BN | 2T 37 |EPNEVNERIERE
24 BN | 2T 39 iz ER Y=y
25 BN | 2T 40  |ERENENE R
26 Elc DS 41 | BFBENRHRTRIZ Y =y 7
27 BN | 2T 42 | BFRENEVNERIERE
28 BN | BT 43 |HTHCE RN R
29 BN | BT 44 |BEHEEAN  EAKBERNE
30 BN | BT 45  |EgEZ V) = v 2 WRHEBR TR
31 ] ="J’$‘Fﬁ 46  |[EREEIEHEL - Vo ~TFRl2 ) =v o
32 BN | 2T 47 EREN b7V =y 7
33 &l ="J’$‘Fﬁ 48 | ZFARIE R
34 W | 2T 49 | ZFRFE
35 Ela ="J’$Fﬁ 50 PhEELRAINLRZ V=S
36 N | BT 52 |G NEHEER ERRL
37 FE[N ="J’$Fﬁ 53 TR AR EHE B
38 BN | BT 54 |fPAVRHE BRHERE
39 BN | 2T 57 FTLHNERIZ YV = o
40 BN | 2T 59 |7 ERERZY=v 2




41 Sl %%% 62  |RILFEERERIAE

42 B | BT 63 HE R

43 Elg %%% 64 |RzEb27V=v 2

44 B | 2R 65 Hp AR V) =y 2

45 ElS =50 66 HLARE S R RHE B

46 BN | 2T 67 I -HR2HGER 2 ) = v 2

47 ElE =0 69 EEENNE 027V =v 7
48 B | BT 70 PKIHEHEREGER 2 V= 2

49 BN | 2T 71 REK7EIZ )V =v 7

50 El =50 74 |TPREERE

51 ElE =0 75 BHBOLZ Y =y 2

52 ElS =0 76 |HKHFEHZ V =y s

53 ElE =0 79 |EHZV=v2

54 Ela %5% 80 DEBARIZ Y =y 2

55 B | BT 81 FHNEHE P

56 E1a :Wﬁﬁ 82 |EHMR&GFRZV=v 7o

57 B | BT 83  |fELMNEIEGRIER

58 =l :ﬂ*mi 84  |fELHEERHERERHERT

59 BN | 2R 86 |EEAZV=v2

60 E1a :Wﬁﬁ 87 EEEAN HEES THEARIZYV=v 7
61 B | BT 90 |MNEHEEREREHERT

62 =l :Wﬁﬁ 91  |F EWNEIEGRIER:

63 I 30 93  |FHRIUIWRIZ V=v 2

64 =g %f% 94 |RFTLEARZV=v 7

65 B | T 95 RN HHRE Y~x b EER
66 =g %f% 96 WEZNEZ7 ) =v 2

67 B | BT 97  |BENE SRR P

68 BN | 2T 98 X Z OEER A8 NRHE B

69 BN | B2ERT 99 S ARlZ Y=y 2

70 B | BT 135 | E/RERNEZ )V =y 7

71 BN | B2ERT 137 &=t -2 0=y

72 & N IR 139 7., 7V=v7/

73 BN | B2IERT 143 |[4FEERE

74 EI =30 144 [ EFRGHRAEL - BENEZ D = v 2
75 &l ZEPT 148 |[BEfEsndb sV =v 7

76 BN | BT 153 [z EHEEEER )V =y 7

77 E1a %f% 154 [ SEWREARZ Y = 2

78 B | BT 155 |EEEAMEZ Y = v 7 WE - BGR
79 E1a %f% 157  [EEEA~LE. BORE -2V =v 72




